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A 86.9-g sample of chromium (s = 0.447 J/(g . *C)), initially at 338.33°C, is added to an insulated vessel containing 189.9 g
of water (s = 4.18 Ji(g . °C)), initially at 16.17°C. At equilibrium, the final temperature of the metal-water mixture is

28.06°C. How much heal was abscrbed by the water? The heat capacity of the ve:v.sei is 0.220 kJ/°C.

a
b
Oc¢
d
s

. 6.82kJ
. 112 kJ
. 9.43 kJ
. 18.2kJ
.12 kJ



Question 2 Abond in which both electrons of the bond are donated by one atom is called .
Not yel

answered ) a. a double bond

:’*:'kw g O b. atriple bond

® Flag {0 c. a coordinate covalent bond
question () d. a polar covalent bond

3} @. an ionic bond

'@



Queston 3 A student must prepare 7.00 L of 0.100 M Na;CO,. Which is the best procedure for preparing this solution?
Mot yet

BN I3 a. Measure 74.2 g Na,COj, and add 7.00 L of H,0.

readmiet ) b. Measure 74.2 g Na,CO;, and add 7.00 kg of H50.

* Flag 0 c. Measure 10.86 g Na;CO; and add H-,0 until the final homogeneous solution has a volume of 7.00 L.
o

question U d. Measure 74.2 g Na;CO; and add H;0 until the final homogeneous solution has a volume of 7.00 L.
_ e. Measure 10.6 g Na,CO4 and add 7.00 kg of H,0.
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Queston 4 An atom of which of the following elements has the highest fourth ionization energy?

Mot yel [
answered O a.Se
tiarked cut of O b. Si
10
- c. Al
¥ Flag )
question O d. Ga

) e.As



Question D An atom of which of the following elements has the smallest atomic radius?
Mot yel

answered O aB

10

v I'Iag L C. Al

question O d.Ga
O e.ln
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In the Lewis dot formula that minimizes formal charge, how many bonds dre there in the tetrathionate ion, S0, ?

"
S
)
S
)
S

—
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a. 11
b.7
& 15

) d.9
) e.13
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An impure sample of benzoic acid is titrated with 0.9855 M NaOH. A 3.412-g sample requires 24.43 mL of titrant to reach
the endpoint. What is the percent by mass of benzoic acid in the sample? L
CgHsCOOH(aq) + NaOH(ag) — NaCgHsCOO(aq) + HoO(l)

O a. 2407 %
O b. 0.01971 %
O ¢ 19.71 %
O d.100 %

O e. 86.18 %



Guestion 8 A mixture consisting of 0.140 mol N5, 0.037 mol O,, 0.104 mol CH,, and an unknown amount of CO; occupies a volume of

i 8.48 L at 27°C and 1.06 atm pressure. How many moles of CO; are there in this sample?
answered

Marked out of O 0.364 mol

lnr i O b. 0.0839 mol

o ) ¢. 0.719 mol

ot

® oo T

2.45 mol
3.77 mol
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A 70.4-L sample of a gaseous hydrocarbon, measured at 1.00 atm pressure and 25.0°C, is burned in excess oxygen,

liberating 4.06 x 10° kJ of heat at constant pressure. What is the identity of the hydrocarbon? (R = 0.0821L . atm/(K .
mol)); b

Substance AH?f (kJ/mol)
COs(g) -393.5
H,O(l) -285.8

O a. propylene (CsHg, AHf = 20.41 kJ/mol)
0 b. ethane (C,Hg, AHf = -84.68 kJ/imol)

O c. acetylene (CsH,, AHf = 226.73 kJ/mol)
O d. ethylene (C;H, AH*f = 52.47 kJ/mol)
O e. propane (C4Hg, AHf = ~104.7 kJ/mol)
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For each of the following species except , the electronic structure may be adequately described by two resonance
formulas.

B
O a. S0,

O b.NO5"
O ¢. CgHg
O d. 5052
O e. O,
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Suppose atom 1 has the same number of protons as atom 2, and atom 2 has the same number of neutrons as atom

3. Atom 1 does not have the saime number of neutrons as atom 3. Which of the following statements is true?

a. Atoms 1 and 3 must be isotopes.

) b. Atom 3 must have the same number of protons as atom 1.
) ¢. Atom 3 must have the same number of protons as atom 2.

d. Atoms 1 and 2 must be isotopes.
e. Atom 2 must have the same number of neutrons as atom 1.
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What is the mass of NH5 in a 80.0-cm® sample that has a density of 0.92 g/lcm® and consists of 20% (by mass) NH,?

i
\J
W/
W

e

a. 74g

2 b. 159
) c. 259
> d. 45¢g

0 e. 20g



Gueston 13 All the following statements about resonance are true except

Mot yel

A 0 a. Resonance describes a more stable situation than does any one contributing resonance formula
:.#;rked al (0 b. Resonance describes the oscillation and vibration of electrons.

¥ Flag (O c. Resonance describes the bonding as intermediate between the contributing resonance formulas.
question (O d. The contributing resonance formulas differ only in the arrangement of the slectrons.

U e. Asingle Lewis formula does not provide an adequate representation of the bonding.
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What is the hybridization of | in IF,;”

O a. sp’d?
O b.sp?
O c.sp?
L) d. sp

O e.sp™d

N e o K
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What is the bond angle in a trigonal planar molecule or ion?

O a. 180°
O b. 109°
O c. 90°

e

O e. 120°

’
A,

yd. 72

&/

Hie Igil V.e .82




Queston 16 How many p orbitals are in the n = 3 shell?

Not yel

answered O a5

10
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question (O d. 0@
O e. 6
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A 1.50-L sample of a gas at STP has a mass of 4.75 g. What is one possible formula of the gas?

O a.CsFy
O b. PCls
O ¢. NF3

L

O d.NHF,
O e.NO,

(W,

Time left 0:19:52
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The approximate CCO angle in acetone, , is

L

O a. 109°.
O b. 90°

O ¢ 120%
QO d. 180°,
O e. 60°

" Time left 0:17:00
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A 4.94-g sample of an oxide of chromium contains 3.06 g of chromium. Calculate the simplest formula for the compound?

O a.CrO,
O b.CrO

O €.Crp04
O d.CrOs
O e.Cr,0

i

oy
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Analysis of a compound containing only C and Cl revealed that it contains 33.33 % C atoms by number and has a molar

mass of 248.75 g/imol. What is the molecular formula of this compound?

::' a. CzC|_1

O b. C4Clg

{ )
L

"
L)

-

¢. C5Clg
d. CCl,

) e. CC'z




Q:L'\q_ 2 S WAk g

 hae
g X 18T _fff-_f-—-(zg—oa—\er\% y—
3

= 9Y39°F : 9438 KJ o
R —[c} .

j@ﬂ‘m&w C

el "I

Qs 57 [} because a bec fosing the fust 35 |
b will have the Ne amangement (noble gas),

g

- ,,,Q_B,_;_;Q_s P‘J - P PR

_ gO: .0;
e "‘ ! I
Y- s gl , - . X2 o\
(V4:—540s =S -S-s=5-0 g
- 5 = i - |
—\'é S Q,,—\
o ]
.. ary - ,Io - - i{ e
mMiaimum < :*.———5———5 ° S" S’ e .
formal_chasge S/ S R
O, O.°
3 bond =
!E’:I ]

Scanned with CamScanner



e

Q? oggs&/‘{ £ 0.02943 L = 000408 mol_NaOH

e __4 ol NaOH a—> dmol Cs H 5 OO coH
e I
,q_ _____ “_Q;Q‘g_\Joe e ‘JP mw, ,mhﬁ
i CGHsoo i = 0.92408 mo] x 122 %’51 = 29384 —
| - o |
% mass / =282 1007 - g6 [#e &) —
Y 2 I
i

T .
Q840 LB P By ¥
ki uer u,m MQT MQT/
l[_ I_O_é__(#ﬁm.-\»n;+“-q) #Q T

—4 W Lt . )

— “\.o¢ (014 +0037 £ O.IN J‘W) X 0.0821 "(27’*2?3)‘

- A48

__yfw,_ 00839mo] b\ |

g PV e x > —
K = Q= = il .
TT " copix it e

. AT 7 B
298 mol |

F—? 800 }tﬂ‘/e Eo Cd[addl' AH; hbm edbbb CIIC?ICR
 to Yind the one s You =W\ K¥/mol, hefe ie ig_
—Cz W by whitng eguation Yhen odance v dnd solve |

.F Hq +30;, —> 2¢Oz +2| H:O
|

Lb\—l . 5 y2393.542%-285.8 + B27 = -M\ KJ/mo|

Scanned with CamScanner



e

W e e by

—
i e e At

e
. i i (A S

dl  és3x6+2-266

e b s

@

Q_\6;J? .'3 o

e e v

e s e

Scanned with CamScanner



- e
e AR S i R B =,

S
i

o Iiff__ | *“5 oo6?m'"l—.:.”_m__:w-.f--'-«
Q QT ooqz:xm S

e e e
R U ———

———
s = i < e . o A

— ﬁ-ﬁ-.*-molm Mass = 4759 ., #43

- ) oo;z _ Mol

-——mnaw aw(cwfal-d L’ke }mla( mass fol mkanswer -
the one fewe wide \A.Me. a mdaf moass "y

71 1S the r\s\* O£ B

m—- T ONG

|
|
K
4
|
I
—

Scanned with CamScanner



oy numlboer

.33/

P s AR

)

Scanned with CamScanner




	Screenshot 2021-01-14 225735
	Screenshot 2021-01-14 225804
	Screenshot 2021-01-14 225819
	Screenshot 2021-01-14 225835
	Screenshot 2021-01-14 225907
	Screenshot 2021-01-14 225922
	Screenshot 2021-01-14 225938
	Screenshot 2021-01-14 230000
	Screenshot 2021-01-14 230013
	Screenshot 2021-01-14 230026
	Screenshot 2021-01-14 230105
	Screenshot 2021-01-14 230120
	Screenshot 2021-01-14 230136
	Screenshot 2021-01-14 230151
	Screenshot 2021-01-14 230207
	Screenshot 2021-01-14 230220
	Screenshot 2021-01-14 230235
	Screenshot 2021-01-14 230246
	Screenshot 2021-01-14 230258
	Screenshot 2021-01-14 230313

